PUMPS & COOLER PARTS

LITTLE GIANT® PUMPS
SMALL SUBMERSIBLE PUMPS

Designed to operate when the pump is totally submerged in fluid « Hermetically sealed
and filled with a special oil that provides life-time lubrication and rapid dissipation of heat

ITEM NO. MODEL NO. )OS PERHOURATHEIGHTOF:  SHOT  PSI  VOLTS iy

05-1208 P-AAA 120 70 - 46° 20 1M1M5v 6

Can be set on any of five sides « Screen flush with pump side allows more complete pick-up of fluid « 05-1208

6 ft. power cord

05-1210 1-AA 170 90 35 59 25 115v 6

Garden hose adapter  Polypropylene front and impeller « Polyethylene screen 3 ft. power cord with 3-

prong molded plug 05-1210
05-1216

05-1216 1 205 168 120 74 32 115v 6

Polypropylene front and impeller « Polyethylene screen « 6 ft. power cord

05-1222 1MA 170 127 70 6.7 26 115v 6

Side intake and vertical discharge * Polypropylene front, impeller, and screen « 6 ft. power cord

05-1222

05-1228 NK-1 210 180 150 1027 44 115 6

Designed for use in mild acids, alkalies, and hard water applications « Has glass filled, corrosion-
resistant nylon housing * Viton® Seal « Thermally protected « 6 ft. power cord

PARTS WASHER PUMP

Submersible pump for use with standard solvant and deodorized kerosene

submerged parts washer applications only = 1/4” MNPT discharge 05-1228

ITEM NO. MODEL NO. G ONSPERHOURATHEIGHTOR: ST PSI VOLTS gy

05-1226 1-YS 205 120 - 74 32 115v 6

6 ft. power cord with Master Builders Conduit fitting « Thermally protected
CAUTION: The low flash point of these solutions presents a potential fire hazard
The entire pump must be fully submerged while in operation

DUAL PURPOSE PUMPS

Maybe used either totally submerged, or in an open air, closed line system -
Application pumps are filled with a special oil that provides life-time lubrication
and rapid dissipation of heat

GALLONS PER HOUR AT HEIGHT OF: SHUT CTN. -
ITEM NO. MODEL NO. %4t 1oUR HIOR ST ps]  vOLTS SN 05-1224

05-1220 2E-38N 300 205 70 11.8 51 145 6
3/8” FNPT intake and 1/4” MNPT discharge ports + Removeable nylon screen * 6 ft. power cord

05-1224 3E-12N 500 337 210 173 75 115v 4
1/2” FNPT intake and 1/2” MNPT discharge ports * Nylon screen « Viton® Seal < 6 ft. power cord

05-1230 3E-34N 670 575 460 20.3° 88 115v 4 05-1220

3/4” FNPT intake and 1/2” MNPT discharge ports * Viton® Seal and stainless steel backplate « Used in
hot tubs and spa applications « 10 ft. power cord

LITTLE GIANT TRANSFER PUMP 05-1230
Potent pump is a portable pumping system for non-submersible use in virtually

any industrial or commerical application where water needs to be moved ¢ Self-

priming

ITEM NO. MODEL NO. G ONSPERHOURATHEIGHTOF: ST PSI VOLTS &y

05-1520 PP-1 275 225 165 - - 115v 6
1/2” FNPT intake and 1/2” MNPT discharge ports « Nylon screen « Viton® Seal « 6 ft. power cord

05-1520

RSEN SUPPLY CO., INC. LASCO § THERMOSTATS 05-1



PUMPS & COOLER PARTS

FLOTEC® PUMPS & ACCESSORIES
FLOTEC CYCLONE® UTILITY PUMPS

Versatile portable utility pump is easy to set-up and operate * Use to
emptying waterbeds, aquariums or non-draining sinks, and transferring
or removing unwanted water

FLOTEC AUTOMATIC SUMP PUMPS

05-1530 Plastic submersible sump pumps provide carefree performance and
05-1532 quiet operation « Ideal for continuous use in excavation, basement, and
many other applications requiring high volume water dispersal

05-1534
ITEM NO. MODEL NO. C4i.ONSPERHOURATHEIGHTOF:  SHUT — psl  voLTS SV

Qry.
05-1530 S1800A 2,280 1,620 0 18’ - 115v 4
1-1/2” FNPT discharge with 1-1/4” FNPT adapter « 1/4 Hp motor * 8 ft. power cord

05-1532 S2400A 2,760 2,160 0 20’ - 115v 4
1-1/2” FNPT discharge with 1-1/4” FNPT adapter « 1/3 Hp motor * 8 ft. power cord

05-1534 S3250A 3,200 2,700 1.200 24’ - 115v 4

1-1/2” FNPT discharge with 1-1/4” FNPT adapter « 1/2 Hp motor * 8 ft. power cord

FLOTEC AUTOMATIC SEWAGE PUMP

Motor housing and pump casing made of rugges, close-grained cast

051542 iron * Vortex impeller will handle up to 2” soilds « Switch may be
bypassed, allowing manual plug-in use
ITEM NO. MODEL NO. C4iiONSPERHOURATHEIGHTOF:  SWUT  PSI  VOLTS ¢V

05-1554 05-1542 SE3601A 5400 3,780 0 - - M5v 4
= 4/10 Hp motor « 20 ft. power cord

FLOTEC TEMPEST®Il UTILITY PUMPS

Versatile portable utility pump is easy to set-up and non-corrosive ¢
Ideal for sump, draining window wells and cisterns

G ONS o] GHT OF: S| CTN.
ITEM NO. MODEL NO. CALLONSPERHOURATHEIGHTOR:  SHUT  pg|  yOLTS SV

05-1554 S1250X 1,140 840 480 - - 115v 4
1/6 HP motor < 1” NPT discharge « 8 ft. power cord * Includes garden hose adapter

05-1552

05-1552 S1300X 1,320 930 660 - - 115v 4
1/6 HP oil-cooled motor « 1” NPT discharge « 8 ft. power cord * Includes garden hose adapter
ACCESSORIES
05-1536 ITEM NO. MODEL NO. DESCRIPTION VOLTS cTN. aTY.
05-1536 26-6 Sump Pump Check Valve - 8
. Universal check valve for pumpss 1-1/4” MNPT x 1-1/4” ID tubing
= 05-1540 12-6 Sump Pump Hose Kit - 8
05-1540 Universal check valve for pumpss 1-1/4” MNPT x 1-1/4” ID tubing
05-1556 18-15 Submersible FloatSwitch 115v 8

Converts any manual pump, up to 1/2 hp, to automatic operation * Attaches easily to the back on the
Wizard « 10 amp switch has 10 ft. power cord with grounded plug

-

05-1556

11/24/10

LARSEN SUPPLY CO., INC.

=2  PUMPS & COOLER PARTS [%




PUMPS & COOLER PARTS

COOLER PUMPS

ITEM NO.  MODEL NO. HP CO0LER Stz Ppspivari ity
05-1320 1055 1/30HP up to 5,500 200gph/1ft 12
05-1300 UL1150 up to 5,500 240gph/1ft 12
05-1302 UL1175 1/20HP up to 7,500 240gph/1ft 12
05-1308 LA1414 comercia  1/10HP up to 15,000 440gph/1ft 12
05-1310  UL1195 1/15HP up to 11,000 420gph/1ft 12 oo
05-1312  1286/230V comerciaL 1/15HP up to 11,000 320gph/1ft 6 16-1330
05-1330 1536 Economy Power Clean Pump 6 05-1300

thru
05-1312

Features: High impact styrene « Snap lock bottom for easy cleaning « Perma lube bearings * Extra
large base * Heavy duty molded impeller » 3/8” & 1/2” hose adapter « Fully warranted for 1 year

COOLER MOTORS AND ACCESSORIES

05-1400 1 1/3” H.P. 1 speed motor
05-1400
05-1402 1 1/3” H.P. 2 speed motor o
05-1404 1 1/2” H.P. 1 speed motor
05-1406 1 1/2” H.P. 2 speed motor
05-1408 1 3/4” H.P. 1 speed motor
05-1410 1 3/4” H.P. 2 speed motor
Cooler motor clamps 2 pieces
05-1147 6 -'l'-lﬂ 8
05-1132 1 Bulk motor base support 05-1050
05-1051
DD
COOLER COMPONENTS T
BULKNO. T DESCRIPTION CARDED NO. T 05-1052
05-1053
COOLER FLOAT VALVES 05-1054
05-1050 @ 1 Brass cooler float valve 05-1051 1
05-1052 @ 1 Economy cooler float valve 05-1053 1
05-1054 1 Brass 3/8” cooler float valve 27
05-1056 | 1 Brass 3/8” short arm cooler float valve CID -
Note: All valves have %" compression hook-up. ai—- "
05-1056 P "
we ]
o 7
COOLER THERMOSTATS AND SWITCHES | ES74
36-0235
Evaporator / Cooler thermostat 36-0231 1
Switch 2 speed 6 position 36-0233 1
Switch 1 speed 4 position 36-0235 1

36-0240 6 Digital cooler controller 115v

36-0231

36-0240

LARSEN SUPPLY CO,, INC. LASCO § PUMPS & COOLER PARTS 05-3



PUMPS & COOLER PARTS

COOLER COMPONENTS

77
2 CONT.
L:O‘ BULKNO. SV DESCRIPTION CARDED NO. ST\
"
wn ) ; COOLER VALVES
o / 06-1250 ,
= thru 06-1520 1 | Brass sillcock female hose to male 06-1521 1
36-0235 06-1531

hose 1/8” FPT side tapped

06-1522 1 | Brass sillcock 3/4” FPT to male hose
1/8” FPT side tapped

06-1530 1 ' Celcon sillcock female hose to male 06-1531 1
hose 1/8” FPT side tapped

17-8448
17-8469

17-8368
17-8369

o [ [ e

37-1829

C 00 LER ADAPTE RS See section 17 for compression fittings

17-8368 1 ' Hose adapter female hose to male 17-8369 1
hose 1/8” FPT side tapped
17-8448 1 | 1/2” MPT to 1/2” FPT 1/8” FPT side 17-8449 | 1

tapped

17-8468 1 | 3/4” MPT to 1/2” FPT 1/8” FPT side 17-8469 | 1
tapped

COOLER TREATMENTS

11-1828

11-1832

: 1/4” Comp in-line scale stopper filter 37-1829 1
05-1030 05-1164

‘ y 1  Deodorizer cake
\:lll / < 11-1828 1 | Pint cooler cleaner
IIZ::!:ZI | 11-1832 1 | Quart cooler coating
05-1099 05-1166 1 | Anode kit

05-1034

COOLER PARTS

? 05-1030 1  Flat Fit-All cooler pump strainer
17-2248 05-1032 1 ' Molded Fit-All cooler pump strainer
05-1110 17-2249 . .
_ 05-1034 1 = Pump strainer filter screen
L=, Water restrictor clamp for pump hose 05-1099 1
@ e 05-1100 1 | Plastic cooler drain threaded with pipe  05-1101 @ 1
i1 17-2248 1 ' Brass cooler drain 17-2249 1
051114 05-1110 1 | Distributor head 3-way side
i 05-1114 1 | Distributor head 6-way side
*“ 05-1118 1 | Distributor head 4-way down
05-1123 05-1122 05-1120 1 | Distributor head 6-way down
05-1120 . 05-1122 1  Distributor head 8-way down
%% Universal 8-way head with glue & plugs 05-1123 @ 1
o > o
3:: T “\\\\ 05-1124 | 1 | Tube retainer clip 05-1125 | 1
\J 05-1130 05-1126 1 = Flow regulator 3 pieces
05-1124 05-1131

05-1125 05-1126 05-1130 1 | Water distributor adapter 05-1131 1

54  PUMPS & COOLER PARTS LASCO LARSEN SUPPLY CO., INC.




PUMPS & COOLER PARTS

COOLER PARTS

BULKNO. ¢V DESCRIPTION CARDED NO. SV &’ & @) ®

05-1136 1 | Mek solvent cement 05-1137 | 1 05-1136 05-1139
Fit-All side latches « 2 pieces 05-1139 | 1 o
05-1140 1 ' Water controller tube 05-1141 1
Lasco 4-way spider kit 05-1151 | 1 =
Lasco 6-way spider kit 05-1153 | 1 —‘% 05-1140
Lasco 8-way spider kit 05-1155 | 1 ' o
Lasco 3-way side kit 05-1157 | 1 #ﬁi
Lasco bleed off kit 05-1161 = 1 051151
05-1160 1 | %’ Tubing clamp oot | \
05-1162 1 ' Bleed off tee only ]
05-1180 1 | 7" Blower pulley 5/8” shaft 0161
05-1182 1 | 8" Blower pulley 3/4” shaft
05-1184 1 | 9” Blower pulley 3/4” shaft 05-1160
05-1186 1 | 10" Blower pulley 1” shaft 051162
05-1188 1 = 11” Blower pulley 1” shaft ‘v
05-1190 1 | 12" Blower pulley 1” shaft K O]
05-1192 1 | 14” Blower pulley 1” shaft / "'
05-1150 1 3/4” x 21” Shaft 05-1150 051180
05-1152 | 1 | 3/4" x 24" Shaft os 115 oo trez
05-1154 1 17" x 24” Shaft
05-1156 1 17 x 27" Shaft
05-1102 1 | 5/8” Bore spider bearing
05-1104 1 | 3/4” Bore spider bearing \
05-1106 1 | 1" Bore spider bearing
3-1/4” x 1/2” Motor pulley 05-1201 | 1 \ 08201
3-1/2” x 5/8” Motor pulley 05-1203 | 1 051104 051207
3-1/4” x 5/8” Motor pulley 05-1205 ' 1 e
3-3/4” x 1/2” Motor pulley 05-1207 1 :
5/8” Pillow block assembly 05-1251 1 ]
3/4” Pillow block assembly 05-1253 | 1 = NN
1” Pillow block assembly 05-1255 1 051251 o521t
3/4” High rise pillow block 05-1257 1 05-1259 051277
1” High rise pillow block 05-1259 1
5/8” Shaft collar 05-1271 1
3/4” Shatt collar 05-1273 | 1 % Q/?
17 Shaft collar 05-1275 | 1 051350 051355
1-3/16” Shaft collar 05-1277 1
Champion tube retainer clips (4pcs) 05-1350 1
Tradewinds tube latch 05-1353 1

05/29/03

$]_PUVPS & COOLER PARTS _ces



PUMPS & COOLER PARTS

WATER PRESSURE REGULATORS

BULKNO. DESCRIPTION CARDED NO. &)

REPLACEMENT FOR 25 AUB

05{’11:]10 05-1612 1 3/4” 111-324 Pressure regulator
00 o0e geten 05-1614 11 1" 111-325 Pressure regulator
05-1608 For supply water pressures up to 300 Ibs. and can be adjusted from 25 to 75 Ibs. = The by-pass
feature, incorporated into these vales, accurately controls build-up of system pressure and thermal
expansion by equalizing the system and supply pressure when relief setting is in excess of available
supply main pressure
WATTS WATER PRESSURE PARTS
05-1606 1 3/4” 25 AUB Repair Kit
051652 05-1608 1. 1”7 25 AUB Repair Kit
et WILKINS WATER PRESSURE REGULATORS
05-1620 6 | 1/2” Pressure regulator #600
05-1622 6 = 3/4” Pressure regulator #600
05-1624 6 | 1”7 Pressure regulator #600
05-1630 6 | 3/4” Pressure regulator #70
051634 05-1632 6 1" Pressure regulator #70
oertese 05-1634 |6 3/4” Pressure regulator #70DU
33@23 05-1636 |6 3/4” Pressure regulator #70DU
REPLACEMENT FOR #70 WILKINS
— 05-1652 1| 3/4” T-6801 Pressure regulator
% — 05-1654 1" 3/4” T-6801 Pressure regulator
— =_ = WILKINS WATER PRESSURE PARTS
§ — 05-1640 11 1/2” Wilkins repair kit
= 05-1670 05-1642 1| 3/4” Wilkins repair kit
= 05-1644 1 1”7 Wilkins repair kit
§ 05-1670 11 3/4” #90 Repair kit
05-1682 05-1682 1 3/4” #70 Repair kit
05-1684 |1 1” #70 Repair kit
05-1646 1 3/4” Copper Tailpiece
05-1648 1. 1” Copper Tailpiece

R.V,, TRAILER, BOAT
05-1598 1| Water P/Reg. male hose to female

05-1600 1| H560 Water regulator
05-1602 1. H5606 Water regulator with gauge

H560 has hose tread connections for travel trailers and drip irrigation « Maximum pressure 150 psi ¢
05-1602 Adjustable reduced pressure range 10-60 psi

056 PUMPS & COOLER PAR *

09/20/07

LARSEN SUPPLY CO., INC.




PUMPS & COOLER PARTS

TEMPERATURE AND

PRESSURE RELIEF VALVES

BULK NO.

CTN.
QTy.

DESCRIPTION

CARDED NO. ¢V

05-1704

05-1706

05-1708

05-1712

05-1720

05-1740

05-1750

05-1710

05/29/03

LARSEN SUPPLY CO., INC.

50

50

50

50

50

50

50

3/4” T&P 150LB A.S.M.E. rated « Self-
-closing T&P relief valve for water
heaters up to 100,000 BTU per hour
Meets all established water heater
safety standards

175# T&P valve coated * Same as
above except with 175 Ibs. pressure
setting

100XL-8 Watts T&P valve « Long Probe

3/4” 150# pressure valve only

* Designed for protection against exce-
sive pressure only « Use on domestic
storage tanks on tankless water heat-
ers * Popularly used in conjunction with
#210 gas shut-off

210 Temperture gas shut-off « Provides
protection for gas water heater against
over heating by shutting off the gas
supply at water termperture of 210°

1/2” 150# Pressure relief valve
» Caution: Use with pressure setting of
150 psi only

3/4” 150# T&P valve A.G.A. and
A.S.M.E. rated with short thermostat
stick « Relief valve for water heaters up

to 80,000 BTU per hour

Long Body 3/4” T&P valve

LASCO

05-1705| 6

05-1713 | 6

05-1741| 6

05-1751| 6

05-1711 6

05-1704
thru
05-1708

—=
i

05-1712
05-1713

05-1720

05-1740
05-1741

05-1750
05-1751

05-1710
05-1711

Q PUMPS & COOLER PARTS 057



PUMPS & COOLER PARTS

MISCELLANEOUS AND
SPECIALTY ITEMS
BULKNO. o™ DESCRIPTION CARDED NO. &V
AIR GAPS
Copper deck type air gap 05-2103 6
05-2104 50 Bulk air gap 05-2105 6
05-2103 05-2104P 24 Poly bag ¢ 24 units
05-2150 1 C.P. outer cap air gap 05-2151 6
e f:\ AIR GAP PARTS
05-2170
05-2160 1 Ext. and Plastic inner cap 05-2161 6
05-2160 G . .
052161 05-2165 05-2160E 1 Extension for air gap
05-2162 1 Plastic lock nut air gap 05-21636 6
052162 1 Air gap kit complete 05-2165 6
oz 05-2170 1 Tall air gap chrome plated cap 05-2171 6
05-2106 50 Plastic air gap with brass cap 05-2107 6
BACK FLOW PREVENTER
05-1762 100 Hose bibb back flow preventer * 05-1763 6
Prevents the reverse flow of
e contaminated water back into
the potable water supply < Hose x
hose connections
05-1760 50 Same as above plastic
05-1760P 10 Same as above poly bag with upc
05-1764 6 Watts 8A back flow preventer
05-1766 1 Watts NF8 Frostpruf backflow preventer
05,2900 05-1768 12 = Arrowhead fine thread back flow 05-1769 6
preventer
05-1770 10 Arrowhead self draining fine thread 05-1771 6

back flow preventer

05-2098 1 1-1/2” ABS plumbing vent

05-2204 1 288A 1/2” Angle vacuum break ¢ Designed
to prevent back-syphonage of contamined

— 05-2206 water into a potable water supply
05-2204 05-2206 288A 1/2” Repair kit
HAMMER ARRESTERS
' 05-2200 1 150A 1/2” Shock arrestor « End
annoying noises from banging pipes *
D Has a permanent precharge air chamber
05-2252

and sealed in diaphragm which flexes to
absorb shock

05-2250 1/2” MIP x 3-3/8”

05-2252 1/2” Copper Sweat

05-2254 5/8” O.D. Comp Tee

05-2256 Washing Machine Tee

05-2254

Oo00o0

= 05-2256

58 PUMPS & COOLER PARTS [g%

08/07/09

LARSEN SUPPLY CO., INC.




PUMPS & COOLER PARTS

MISCELLANEOUS AND
SPECIALTY ITEMS CONT’D
BULKNO. Gy DESCRIPTION CARDED NO. ™
SPECIALTY PUMPS

05-1507

Drill pump kit without hose *« Works with 05-1507 | 1
any electric drill
Drill pump kit with hose « Works with 05-1509 @ 1
any electric drill « Pumps up to 200gph
05-1584 10 | Plastic cellar drain 05-1585 ' 6
05-1588 1  Waterbed fill and drain kit
05-1590 1 | Pitcher pump

05-1584
05-1585

05-1509

CASA & BOB FLOATS VALVES
05-1800 1 | R-810 3/8” Casa float valve

05-1802 1 ' R-810 1/2” Casa float valve

05-1804 1 R-810 3/4” Casa float valve

05-1806 1 ' R-810 1” Casa float valve

05-2000 1  R-400 3/8” Bob float valve 05-1800

05-2002 1 | R-400 1/2” Bob float valve 05-1806

05-2004 1 | R-400 3/4” Bob float valve

05-2006 1 | R-400 1” Bob float valve ﬁ
05-2000 05-1880

thru

FLOATS VALVES PARTS e

05-1860 1 | 3/8"-1/2"-3/4” Fulcrum Bj:]

05-1862 1 17 Casa valve fulcrum AR, 051360

05-1880 1 | 3/8"-1/2"-3/4"-1" Screw R 05-1862

05-1892 1 ' 3/4” Casa valve washer e

05-1902 1 | 3/4” Casa valve cup 06-2020

05-2020 1 | 3/8” Bob valve plunger assembly 05-22024

05-2022 1  1/2" Bob valve plunger assembly 05-1902

05-2024 1  3/4” Bob valve plunger assembly

05-2028 1 | 3/8"-1/2"-3/4”-1” Long arm

05-2030 1 1 3/87-1/2"-3/4’-1" Arm

05-2032 1 | 3/8"-1/2"-3/47-1" Screw 05.2030

05-2034 1 | 3/8"-1/2"-3/47-1" Cotter pin 05205

05-2036 1 | 3/8” Bob valve washer

05-2038 1  1/2” Bob valve washer

05-2040 | 1 |3/4” Bob valve washer 02034

05-2050 1 | 3/8” Casa valve cup washer

05-2050

£
)

LARSEN SUPPLY CO,, INC. LASCO § PUMPS & COOLER PARTS 05-9




PUMPS & COOLER PARTS

05/29/03

0>-10_ PUMPS & COOLER PARTS g

753




